DIN 2080

Type 5370

m Drill chuck adapters for drill chucks with

Jacobs taper

Code No.

800003406
800003407
800003408
800003409
800003410
800003411
800003412
800003414
800003413
800003415
800003416
800003417
800003418
800003419
800003420

LA,
K7:24 K1 Jacobs

30 Jo

30 il

30 J2

30 J3

30 433

30 J6

40 J2

40 i3

40 433

40 J6

50 I3

50 433

50 J4

50 5

50 J6

12
12

12
12
12
14
14
14
14

18
18
18
18

~

Type 5370 QC

m Quick Change

o Drill chuck adapters for drill chucks taper

DIN 238 or Jacobs taper

K
g
&

¥ !
. \\
LAl
Code No. K7:24 K1 DIN
800003421 30 133
800003423 30 J6
800003422 40 133
800003424 40 6

R
KSR
i
PR
OOGOGON

21
21
23
23

~

Code No.

800000914
800000915
800000916
800000917
800000918
800000919
800000920
800000921
800000922
800000923
800000924
800000925
800000926
800000927
800000928
800000929
800000930
800000931
800000932
800000933
800000934
800000935
800000936
800000937
800000938
800000939
800000940
800000941
800000942
800000943
800000944
800000945
800000946
800000947
800000948
800000949
800000950
800000951
800000952
800000953
800000954
800000955
800000956

7:24
30
30
30
30
30
30
30
30
30
30
30
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
50
50
50
50
50
50
50

200
250
315
200
250
315
400
200
250
315
400
200
250
315
400
200
250
315
400
500
200
250
315
400
500
630
160
250
315
400
500
630
315
400
500
630
200
250
315
400
500
630
315

4x4x45
4x4x45
4x4x45
6x6x50
6x6x50
6x6x50
6x6x50
7x7x80
7x7x80
7x7x50
7x7x80
4x4x45
4x4x45
4x4x45
4x4x45
6x6x50
6x6x50
6x6x50
6x6x50
6x6x50
7X7x50
7X7x50
7X7x50
7X7x50
7x7x80
7x7x50
8X7x63
8x7x63
8x7x63
8x7x63
8x7x63
8x7x63
10x8x63
10x8x63
10x8x63
10x8x63
6x6x50
6x6x50
6x6x50
6x6x50
6x6x50
6x6x50
7X7x50

M16x1,5
M16x1,5
M16x1,5
M20x2
M20x2
M20x2
M20x2
M24x2
M24x2
M24x2
M24x2
M16x1,5
M16x1,5
M16x1,5
M16x1,5
M20x2
M20x2
M20x2
M20x2
M20x2
M24x2
M24x2
M24x2
M24x2
M24x2
M24x2
M27x2
M27x2
M27x2
M27x2
M27x2
M27x2
M33x2
M33x2
M33x2
M33x2
M20x2
M20x2
M20x2
M20x2
M20x2
M20x2
M24x2

Code No.

800000957
800000958
800000959
800000960
800000961
800000962
800000963
800000964
800000965
800000966
800003425
800000968
800000969
800000970
800000971
800000972
800000967
800000974
800000975
800000976
800000977
800000978
800000973
800000979
800000980
800000981
800000982

ype 7175

m Milling machine arbors

K
7:24
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50
50

3833338883888 8

400
500
630
800
315
400
500
630
800
900
1000
400
500
630
800
900
1000
400
500
630
800
900
1000
630
800
900
1000

X7x50
7X7x80
7X7x80
7X7x80
8x7x63
8x7x63
8x7x63
8x7x63
8x7x63
87x63
8x7x63
10x8x63
10x8x63
10x8x63
10x8x63
10x8x63
10x8x63
12x8x80
12x8x80
12x8x80
12x8x80
12x8x80
12x8x80
14x9x80
14x9x80
14x9x80
14x9x80

M24x2
M24x2
M24x2
M24x2
M27x2
M27x2
M27x2
M27x2
M27x2
M27x2
M27x2
M33x3
M33x3
M33x3
M33x3
M33x3
M33x3
M39x3
M39x3
M39x3
M39x3
M39x3
M39x3
M45x3
M45x3
M45x3
M45x3

N\

-BEEER

7175

5370

Rotagrip Ltd Tel 0121 551 1566, Fax 0121 523 9188, Website www.rotagriponline.com

(211





